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Aufgaben-Quickname: 3912

Aufgabe 1
Quick:
3912

Miss die Länge der Strecke auf einen Millimeter genau.
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Länge der Strecke: 6cm
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Länge der Strecke: 4cm

Aufgabe 2
Quick:
3912

Miss die Länge der Strecke auf einen Millimeter genau.
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Länge der Strecke: 2,5cm
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Länge der Strecke: 3,7cm
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Länge der Strecke: 2,4cm
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Länge der Strecke: 3cm
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Länge der Strecke: 3,1cm
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Länge der Strecke: 2,5cm

Aufgabe 3
Quick:
3912

Miss die Länge der Strecke auf einen Millimeter genau.
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Länge der Strecke: 3cm
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Länge der Strecke: 6,4cm
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Länge der Strecke: 6cm

Aufgabe 4
Quick:
3912

Miss die Länge der Strecke auf einen Millimeter genau.
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Länge der Strecke: 1,3cm
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Länge der Strecke: 1,6cm
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Länge der Strecke: 1,5cm
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Länge der Strecke: 1,3cm
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Länge der Strecke: 1,5cm
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Länge der Strecke: 1,2cm

Viel Erfolg!
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